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1 X 2 X 3 X 4 X 5 X

&S F—24 WHEHXA A 6km 4. 0975km 3km 3km 5km
A BIFT (D AR 3R (1) 55 R () BB LB Q) e 2 (3)
1 FEExE L 1:117197 <1>  20.05<1>  14.12<1>  9.57<1>  9.53<1> 17.12
1> 34.17<1>  44.14 <1>  54.07 <1> 1.11.19
B R B) EA IR G) BAg LEQ) HA ERO) EHE KR 3)
2 BRELBE 1:15°39”7 <2>  20.23<2> 15.04 <2> 10.41<2> 11.15<2> 18.16
2>  35.27<2> 46.08 <2> 57.23<2> 1.15.39
KIg o7 (3) EH L) L () EmEE A Q) Ak 0ERE)
3 BIEPEHEA 1:177217<3>  21.35<4> 15.07 <3> 11.01 <3> 11.21 <3> 18.17
(3> 36.42/<3>  47.43<3> 59.04 <3> 1.17.21
H T (1) AR AAE (D) AT BEEQ) Bk b7 (2) BiR 7 (2)
4 FHLE 1 1:19°56” <4>  22.17.<3> 15.05<5> 11.36<4> 11.27<6> 19.31
4> 37.22<4> 48.58 <4> 1.00.25 <4> 1.19. 56
R P (1) JKHE E (1) #E oAE(Q) HEYE () EEE AR G)
5 HEEREF 1:21417 <6>  22.43<5> 15.29<6> 11.43<5> 11.34<7> 20.12
<5> 38.12<5> 49.55<5> 1.01.29 <5> 1.21. 41
B OV (2) Bom Bix 1-(2) WA H&8Q) %IE fifk () BEE KO
6 ELh4 1:22°05” <5>  22.32<7> 17.09<7> 12.09<6> 11.43<4> 18.32
6>  39.41<6> 51.50<6> 1.03.33 <6> 1.22.05
PR T2 (2) /MK TEE Q) HA EF©Q) BA BE(©2) sk HEJh(2)
T WiRZ 1:24° 557 <7> 23.31<6> 16.18 <8> 12.58 <8> 13.32<5> 18.36
<T>  39.49 <7>  52.47 <8> 1.06.19 <7> 1.24. 55
FEIE B (2-F ) (AL BTk R4 W (2-53dk) IRE ek (- | Fm KR E Q)
oP & 1:27720” <8> 24.23<8> 17.25<4> 11.06<7> 12.59<8> 21.27
(8> 41.48 <8> 52.54 <7> 1.05.53 <8> 1.27. 20
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